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Draw the integer counters. Write the problem in  .

 1.  

    ×  = 

 2. 

    ×  = 

 3. 

    ×  = 

 4.  
 ×  = 

 5.  BUSINESS Your business lost ten dollars (−$10) each day for 4 days. 
How much did you lose altogether?

   ×  =  dollars

PRACTICE MAKES PURR-FECT™
Check your answers at BigIdeasMath.com.

Name ___________________________________Multiplying Integers

2 × (−3) = −6

times equals

2 −6−3Use integer
counters

to multiply.

is positive.
is negative.

2 times ( 3)

Key Concept and Vocabulary
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